
 







 



 

 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



 

https://www.facebook.com/kristinnj75/videos/4829940994980
https://www.youtube.com/watch?v=aG3J6PH5S2s&t=9s


 



 

 



 

𝑈

ℎ 𝐿

𝑆𝑤 = 3 ⋅ 10−6 ⋅ 𝑈2 ⋅ 𝐿 ⋅
ln (

ℎ1

ℎ2
)

𝑔 (ℎ1 − ℎ2)



 

Ϛ𝜃0=0 

𝐻0

= 0,0063 + 0,768𝑠 − (0,0083 + 0,011𝑠) ⋅ ln (
𝐻0

𝐿0

) + (0,00372 + 0,0184𝑠) ⋅ (ln (
𝐻0

𝐿0

))
2

Ϛ𝜃0=0 𝐻0 𝐿0

𝑠

Ϛ =  Ϛ𝜃0=0 (cos θ0)
0,545+0,038 ln(

𝐻0
𝐿0

)

θ0

 





 



 

 



𝑌𝑖  =  − log(− log(𝑓𝑖)) 𝑓

𝑖

𝒀−𝑖|𝑌𝑖 = 𝒂𝑌𝑖 + 𝑌𝑖
𝒃𝑾

𝒀−𝑖 𝑌 𝑌𝑖

𝒂 𝒃 𝑾

𝑌𝑖

 𝑌𝑖

 𝑾

 𝒀−𝒊 𝑊

  𝑌  𝑓 



 





 



 



 



 

 

 

𝑞

√𝑔 ⋅ 𝐻𝑚0
3

= 0,1035 ⋅ exp [− (1,35
𝑅𝑐

𝐻𝑚0 ⋅ 𝛾𝑓 ⋅ 𝛾𝛽

)

1,3

] 

𝐻𝑚0 𝑅𝑐

𝛾𝑓 𝛾𝛽



𝑞

𝑞

√𝑔 ⋅ 𝐻𝑚0
3

= 0,1035 ⋅ exp [− (1,35
𝑅𝑐

𝐻𝑚0 ⋅ 𝛾𝐵𝐵 ⋅ 𝛾𝛽

)

1,3

] 

γ

𝛾𝐵𝐵 = 0,68 − 4,1 ⋅ 𝑠𝑚−1,0 − 0,05
𝐵

𝐻𝑚0

 

𝑠𝑚−1,0 𝐵

𝑞

𝑉𝑚𝑎𝑥 = 𝑎 ⋅ [ln(𝑁𝑜𝑤)]1/𝑏

𝑎 𝑎 = (
1

Γ(1+
1

𝑏
)
) ⋅ (

𝑞𝑇𝑚

𝑝𝑜𝑣
)

𝑏 𝑏 = 0.85 + 1500 (
𝑞

𝑔 𝐻𝑚0𝑇𝑚−1,0
)

1.3

𝑝𝑜𝑣 𝑝𝑜𝑣 = exp [− (√− ln 0.02
𝑅𝑐

𝑅𝑢,2% 
)

2

] 

𝑅𝑢,2% 𝑅𝑢,2% = 1.75 ⋅ 𝐻𝑚0 ⋅ 𝛾𝑓 ⋅ 𝜉𝑚−1,0 𝜉𝑚−1,0 < 1.8

𝑅𝑢,2% = 1.07 ⋅ 𝐻𝑚0 ⋅ 𝛾𝑓 ⋅ (4.0 −
1.5

√𝜉𝑚−1,0
) 𝜉𝑚−1,0 > 1.8

𝜉𝑚−1,0 𝜉𝑚−1,0 =
tan 𝛼

√𝑠𝑚−1,0

𝑁𝑜𝑤 𝑁𝑜𝑤 = 𝑝𝑜𝑣 ⋅ 𝑁𝑤

𝑁𝑤 𝑁𝑤 =
3600

𝑇𝑚−1,0

𝑇𝑚−1,0 𝑞

 



 



 



 





 

 



 



 

 



 



 

 



 



 

 





 

 





 

 



 



 



 



 

 

https://www.youtube.com/watch?v=aG3J6PH5S2s&t=9s


 

 



 

 



 

 

 

 

 

 

 

 

 

http://www.overtopping-manual.com/
http://icebreak.is/

